
teach-learn write (in) algebra (7) timelypractice.com

1. A gardener buys some tulip bulbs.

She buys t bags of tulip bulbs.

Each bag contains 6 tulip bulbs.

Write down an expression, in terms of t, for the total number of tulip bulbs she buys.
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2. Mr Wallace buys some biscuits for year 7.

He buys 17 packets of chocolate biscuits.

There are x chocolate biscuits in a packet.

He buys a total of T biscuits.

Write a formula for T , in terms of x.
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3. Ms Sosanya buys some biscuits for year 11.

She buys j packets of jammy ring biscuits.

There are 12 jammy ring biscuits in a packet.

Write down an expression, in terms of j, for the total number of jammy ring biscuits Ms
Sosanya buys.
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Answers

1. 6t

2. T = 17x

3. 12j
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